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1.2 Unit Conversions

1)Convert  45.7 kg to  g			_______________g


2)Convert 0.73 mL to L.			_______________ L


3) Convert 3.6 Ms to ns			_______________ns


4) Convert 0.001 mg to pg			______________pg



5) Convert  7.2 kg/L to mg/L			_______________ mg/L
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1.3 Unit Conversions

1)Convert  45.7 kg to  g			_______________g


2)Convert 0.73 mL to L.			_______________ L


6) Convert 3.6 Ms to ns			_______________ns


7) Convert 0.001 mg to pg			______________pg


8) Convert  7.2 kg/L to mg/L			_______________ mg/L
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1.2 Unit Conversions 

 

1)Convert  45.7 kg to  g   _______________g 

 

 

2)Convert 0.73 mL to L.   _______________ L 

 

 

3) Convert 3.6 Ms to ns   _______________ns 

 

 

4) Convert 0.001 mg to pg   ______________pg 

 

 

 

5) Convert  7.2 kg/L to mg/L  _______________ mg/L 
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1.3 Unit Conversions 

 

1)Convert  45.7 kg to  g   _______________g 

 

 

2)Convert 0.73 mL to L.   _______________ L 

 

 

6) Convert 3.6 Ms to ns   _______________ns 

 

 

7) Convert 0.001 mg to pg   ______________pg 

 

 

8) Convert  7.2 kg/L to mg/L  _______________ mg/L 
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